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422 |72V 238 238
423 [ AF LTI 0.0002 0.0003 0.0005
424 | AFI)N=AJF AT F—h 3,960
495 (A TahvT
426 | R TF5
427 |y 77 162
428 |7 )T VT 126 136
429 [ ~mRLTTL AT L 104
430 | A R¥H LT 30
431 |7/ XU AbEE S 854
432 | 73T X
433 [ H— 34 2,000 2,000
434 A F 9L 7.2 7.2
435 BV X AF )L 5.8 5.8
436 | TV T 7 —AF )L AFL
437 |3—AF NFTF T asF—)L
438 [ AFNFTHL L 1.8 131]  0.001 0.00007 133
439 |3— AT BV

1—AF)—1—Tz=)L=F )L =R~
40 | ek 0.050 0.20 0.25
441 2—(1—AFV7ub’)N) —4, 6—r=hu

Jx/)—)b
442 | A=)
443 | AL 229 229
444 |N)7aXx L AhpbE 222 222
445 (VIR LAT IV 344 344
446 |4, 4’ —AF LU T=0r
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MKPIFEIDARDPEN TN BB RN OW T, I R DRI AT REL 7R T2 Z &b 43 Rl AR I 2 I TSR ORI PR BHEGH 7 — X O R &2 AT o 72 (R & FTIIT P& L72) o
w219 PEHIER] - A R E R OPEH BHERHRE R (G An24E R - (UAUR) [1. MG fliA B e AN DO EYI DL T ~23. PESEBE FEWBE Alf %

*IEALFE R HEH & (kg/4F, X A4 FE13mg-TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
447 AFLUERA(4, 1—vra~Fily) =
AT F—h
pg T EAM, =T mml) =TV 61 0.012 61
7 F—h

449 |7 = AT 4T 7 I
450 \RUTTF T 174 174
451 |2—ARFY —5—AF LT =Y
452 (12— ANV T IR F T — )b 3.2 3.2
453 RV TV R OFDILEY 1.5 69 0.17 70
454 12— (BRI T )XY FTV —)L 0.047 0.047
455 |F/LRY 6.1 20 26
456 |WAALT VI=T A
457 |7 a)LiRA 375 375
458 |WAMERNA (2—F )L~F L)
459 |WAFERN A (2— Z7araxF /L)
460 [VAERNIRI L 0.66 0.66
461 |WABEN) 7 ==L 17 21 38
462 |WABERRN— /)L~ )L— T F )L 0.00008 0.00008

a it 271,783 158,378 2,158] 4,968 139,831 307,477 41,4400 12,949 4,175/ 625,577/ 10,851 8,994 1,856 0 522 29,796 310 37,361 1,275 315| 1,659,707
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